


مجموعه، الگو و دنباله: فصل اول 

متمم یک مجموعه:درس دوم

.کنیدمشخصرازیرمجموعهبودننامتناهییامتناهی-1

20ازکوچکتراولاعداد

0,2بینگویااعدادمجموعه

0,2بینصحیحاعدادمجموعه

:پاسخ

20ازکوچکتراولاعداد

0,2بینگویااعدادمجموعه

.استنامتناهیمجموعهپسداردقرار2و0بینگویااعدادنهایتبی

0,2بینصحیحاعدادمجموعه





.داردوجودگویااعدادشماربی0,1عددبین

.استدرستبالاعبارت







دباشنبرداشتهفیزیکدرسنفر50ومعادلاتدرسنفر55دانشجو،100بینازاگر-6

.باشندبرداشتهرادرسدواینازیکیحداقلنفر70و

اند؟برداشتهرادرسهردونفرچند(الف

اند؟برداشتهمعادلاتفقطنفرچند(ب

:پاسخ









وفوتبالگروهعضونفر12وآزمایشگاهیگروهعضونفر15نفری۴2کلاسیکدر-10

نیستند؟هیچکدامعضونفرچند.گروهنددوهرعضونفر7

:پاسخ

ودیواریروزنامهگروهدرنفر12وورزشگروهدرنفر16نفری۳۹کلاسیکدر-11

نیستند؟گروهدواینازیکهیچدرنفرچند.هستندورزشگروهدرفقطنفر۹

:پاسخ



؟نا‌متناهییاستمتناهیمجموعههرکنیدمشخص-12

رقمیسهاولاعدادمجموعه(الف

200عددعلیهمقسوممجموعه(ب

مثبتگویااعداد(ج

دوویکبینگویااعداد(د

یکعددمرکزبههادایرههمهمجموعه(ه

منفیطبیعیاعداد(و

:پاسخ

متناهی(الف

متناهی(ب

نامتناهی(ج

نامتناهی(د

نامتناهی(ه



.کنیدمشخصرازیرهایعبارتنادرستییادرستی-1۳

.ستنامتناهییکسانغیرنامتناهیمجموعهدواشتراک(الف

.ستنامتناهیBباشدنامتناهیA-Bاگر(ب

.ستنامتناهیAباشدنامتناهیA-Bاگر(ج

.ستمتناهیحتماBباشدنامتناهیAوباشدنامتناهیA-Bاگر(د

.ستنا‌متناهیهمAآنگاهباشدنامتناهیBوAمجموعهعضوBاعضاهمهاگر(ه

:پاسخ



.بزنیدمثالشدهخواستهشرایطبهتوجهبا-1۴

AوBونامتناهیA-BونامتناهیB-Aمتناهی.

:پاسخ

(U=R).بنویسیدبازهبصورتراQوZوWوNهایمجموعهازیکهرمتمم-15

:پاسخ



Uکنیدفرض-16 = Cهایمجموعهمتمم[2,2-] = [0,2), B = [-1,1], A = را(2,2-)

.آوریدبدست

:پاسخ


